1)

uPD7801G (4MHZ)
EPOCH TV-1 (14.31818MHz)
uPD1771C (6MHzZ)
UPD4016C-2 (2KB SRAM) *2

CPU

uPD7801G NEC

4KB  ROM
EPOCH TV-1

TMS9918
UPD1771C NEC
2KB SRAM *2 CPU
2)
$0000-$0FFF : CPU ROM
$2000-$2FFF :
$3000-$31FF : /BG
$3200-$33FF :
$3400-$3403 : EPOCH TV-1
$3600- : uPD1771C
$8000-$FF7F - ROM
$FF80-$FFFF : CPU RAM

$8000-$FF7F
BASIC

1 CPU ucomg7 1
PA, PB,PC 3 8 170
NEC
1 CPU
EPOCH TV-1
VRAM
PC5, PC6

$E000-$FF7F
RAM

128B

SRAM

RAM
170



3) 110

uPD7801G PA, PB, PC

PA bit0
P1-L
P1-U
P1-T1
P2-L
P2-U
P2-T1

PB bit0
PB bitl
PB bit2
PB bit3
PB bit4
PB bits
PB bit6
PB bit7

PC
PC bit0 IN
PC bitl IN
PC bit2 IN
PC bit3 OUT
PC bit4 OUT
PC bits OUT
PC bite OUT
PC bit7 IN

1/0

3 8bit 1/0
PA

bitl
P1-D
P1-R
P1-T2
P2-D
P2-R
P2-T2

bit2 bit3 bit4

PAUSE
N.C

GND
uPD1771C
N.C

bit5

1/0

bit6

PB

bit7

CL
EN



4) VDC (EPOCH TV-1)

NEC 64pin
EPOCH TV-1
VDC
VDC  VBLANK CPU  INT2
4-1)
/BG
4x4
VRAM
192x222
16x16
20
X, Y
16x16
4-2) /BG
/BG VRAM CPU
1
256x256
/BG

XMAX = $3400 bit0-bit3
YMAX = $3400 bit4-bit7

(0,0)- (XMAX-1, YMAX-1)

$3400 bit7

DIP 8432KX
SRAM 2KB*2 uPD4016C-2 VDC
2KB o
CPU
/BG 2
/BG
8x8 1
1
256x256 v
128
32x16, 16x32, 32x32 2
2
$3000-$31FF 32x16
8x16
TV 192x222
*2

1



VRAM
VDC 8x16

= $3403  bit4-bit7

= $3403  bit0-bit3

8x8 1
4x4 1

$3400 bit0-bitl =1:
=3 :
VRAM 8x16
bit4-7 bit0-bit3
VRAM lbit
8x16
b7,b6
b5,b4
b3,b2
b1,b0
= $3401 bit4-bit7
= $3401 Dbit0-bit3
4-3)
1 16x16
128

BI10S BI10S

4x4

128

8x8



$2000-$2FFF 1

4096 128

4x2

b7,b6,b5,b4
b3,b2,b1,b0
32

P00,P01,P02,P03
P04,P05,P06,P07
P08,P09,P10,P11
P12,P13,P14,P15
P16,P17,P18,P19
P20,P21,P22,P23
P24,P25,P26,P27
P28,P29,P30,P31

ATRO = $3200 + (index
ATR1 = $3201 + (index
ATR2 = $3202 + (index
ATR3 = $3203 + (index

ATR3

2
X = ATR2  bitl-bit7
Y = ATRO  bitl-bit7
ATR1  bitO-bi3

X,Y

16x16
$3200-$33FF
512 128

ATRO-ATR3
4)
4)
4)
4)

bit0-bit6

32x16, 16x32, 32x32

32



$3400 bit5 1 32-63, 96-127 2
ATR2  bit0 1 X ATRO bit0 1 Y
ATR3 bit0-bité
NO (NO or 1) (NO or 8) (NO
or9) bit0, bit3 0
1
2 ATRO ATR2  bit0 0
ATR3  bit0-bit6
NO
NO xor ((ATR2 bit0 1 8) or (ATRO bit0 1 1))
0-63
PAIR[] = { 0,15,12,13,10,11, 8, 9, 6, 7, 4, 5, 2, 3, 1, 1 }
64-127
PAIR[] ={ 0, 1, 8,11, 2, 3,10, 9, 4, 5,12,13, 6, 7,14,15 }
ATR1  bit0-bi3 c PAIR[C]
ATR3 bit7 1 16x16
ATR2  bit0 O 1
ATR3 bit6 1 ATRO bit0 0
1
X,Y -8

ATR1  bit4-bit7
2 0-30



ATRO : bitO Y /

bitl-bit7 Y
ATRL : bit0-bit3
bit4-bit7
ATR2 : bit0 X /
bitl-bit7 X
ATR3 : bit0-bit6
bit6
bit7
ATR3  bit6
2
4-4)

P®EPOGH SCV - 61 fps x|
Caontral  Cart  Screen Sound Contral  Gart  Screen Sound

HAEEEEE BEEEEE AMA 2
FIUSH SELECT KEVY:!

&

/BG 3



EEEPBGH

Control  Cart  Screen Sound

EFOCH TW-GAME

T owa owm A
P ow

FUSH SELECT KEY!

SELECT KEY!

EEEPBGH

Control  Cart  Screen Sound

32x32



“TEPOCH SCV - 60 fps (00
Cart Sound

Soreen

Contral

BEEEEE  BEEEEE AFMA S
CHEM Saaas

Caontral  Cart  Screen Sound

¥0E2458 OEEEEE AMA 2

-IJ
[...

Contral  Cart  Screen Sound

BEEEEE BEREEE AMA S

L




5)
NEC

5-1)
CPU

5-1)

5-2)

Timbre

(uPD1771C)
1 CPU
$3600
CPU INT1
$00
$02 4
$02, Timbre, Period, Volume
bits-bit7 8 1

8
1 1bit PCM

Timbre=0,1

Timbre=2, 3

Timbre=4, 5




Timbre=6, 7

Period Timbre bitO-bit4

Detune[32] = {
100.0, 97.8, 91.7, 91.3, 88.1, 85.2, 82.1, 79.2,
75.5, 72.4, 69.0, 66.3, 63.0, 60.0, 56.5, 53.6,
50.7, 47.4, 44.3, 41.4, 38.0, 34.8, 31.6, 28.6,
25.3, 22.3, 19.0, 15.9, 12.6, 9.4, 6.3, 3.2

}
Volume bit0O-bit4

5-3)
$01 10

$01, ($80/%$e0), Periodl, Volumel, Period2, Detune2,
Volume2, , ($80/%e0)

Periodl, Volumel

Periodl, Volumel O

Detune2 Period2, Volume2




3 Periodl = Volumel = Volume2 = 0, Detune2 =

5-4) 1bit PCM

$1f 1bit PCM
$1f, ($04/%$06), $64, $01, $00, (
MSB LSB 1bit $fe, $00
6)
170 Enri
vDC Enri
2

333

), $fe, $00



